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’ 100kN/mM##BZ % 1.00/ 000 ~ 233 136.40[3mZEBZBH| - ~ = - -| 100kN/MZE#B 2% 1.00| 1055 ~ 19.94 136.40|3m%i#BZ % ol ~ - - -
TS 1.00]2.33 ~ 10.12 100.00] Zh st | 000 ~ 10.12] 2.41 12.63 ZTh LS 1.00] 500 ~ 1055 100.00| Zhlist | 500 ~ 19.94] 2.41 12.63
9 100kN/mM#%#8Z % 1.00] 000 ~ 041 106.07|3mZ#BZ5| - ~ = = -| 100kN/iZi#8 % % 1.00] 1251 ~ 14.31 106.07|3m%i#B% % =~ = = =
ZThLS 1.00] 041 ~ 820 100.00] #n L4t | 000 ~ 820| 1.94 10.17 Zh LS 1.00] 500 ~ 1251 100.00| Zh it | 500 ~ 14.31| 1.94 10.17
3 100kN/mM#%# 8% % 1.00] 000 ~ 1.31 119.82|3mZi#BZB| - ~ = = -| 100kN/ %82 % 1.00| 12.64 ~ 21.07 119.82|3m%i#BZ % =~ = = =
Zh LS 1.00] 1.31 ~ 9.09 100.00] #hlist | 000 ~ 9.09] 239 12.55 Zh LS 1.00] 500 ~ 1264 100.00| Zhlist | 500 ~ 21.07| 2.39 12.55
4 100kN/mM#%# 8% % 1.00] 000 ~ 1.39 121.04|3mZ#BZB| - ~ = = -| 100kN/iZi#8 % % 1.00| 12.38 ~ 20.91 121.04|3m%#BZ 5 =~ = = =
ZThLS 1.00]1.39 ~ 917 100.00] #hlist | 000 ~ 917 2.41 12.63 Zh LS 1.00] 500 ~ 12.38 100.00| Zhlist | 500 ~ 20.91| 2.41 12.63
5 100kN/mM#%#8Z % 1.00/ 000 ~ 164 125.10|3mZ#BZB| - ~ = = -| 100kN/iZi#8 % % 1.00] 12.11 ~ 2268 125.10(3m%i#B% % =~ = = =
ZThLS 1.00] 164 ~ 943 100.00] Zh st | 000 ~ 9.43| 243 12.72 Zh LS 1.00] 500 ~ 12.11 100.00| Zh it | 500 ~ 22.68] 243 12.72
6 100kN/mM#%#BZ % 1.00/ 000 ~ 054 108.08|3mZi#BZBH| - ~ = = -| 100kN/iZi#8 % % 1.00| 12.05 ~ 14.30 108.08|3m%i#B% % =~ = = =
ZhLS 1.00{ 054 ~ 833 100.00] Z#hlist | 000 ~ 8.33] 1.96 10.29 Zh LS 1.00] 500 ~ 1205 100.00| Zh it | 500 ~ 14.30] 1.96 10.29
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Zrn Lot 1.00] 0.00 ~ 6.18 7758 zn st | 0.00 ~ 6.18] 1.57 8.23 Zh st 1.00f 500 ~ 7.89 7758 Zhlst | 500 ~ 7.89| 1.57 8.23
8 100kN/mM##BZ % -l -~ = -|3mxEZB| - ~ = = -| 100kN/ %22 = -~ = -|3m%EiEZ S -~ = = =
ZnLst 1.00] 0.00 ~ 6.54 82.48| ZnList | 000 ~ 654| 1.66 8.69 Zh st 1.00f 500 ~ 8.00 8248 #nLis | 500 ~ 8.00| 1.66 8.69
9 100kN/m##BZ % 1.00{0.00 ~ 0.01 100.13|3m%EHE %% -~ = = -| 100kN/ %8z % 1.00| 11.30 ~ 11.33 100.13|3m%E# %% =~ = = =
ZnLst 1.00{0.01 ~ 7.79 100.00] Zhist | 0.00 ~ 7.79] 2.02 10.57 Zh st 1.00f 500 ~ 11.30 100.00f Z1List | 500 ~ 11.33| 2.02 10.57
10 100kN/mM##BZ % 1.00{0.00 ~ 038 105.66|3m%HE %% -~ = = -| 100kN/ %z % 1.00] 11.70 ~ 13.11 105.66|3m%E %% =~ = = =
ZnLst 1.00{ 038 ~ 8.17 100.00] Zh L4t | 000 ~ 8.17| 1.98 10.41 Zzh st 1.00f 500 ~ 11.70 100.00f Z1List | 500 ~ 13.11| 1.98 10.41
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